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1. Answer any five questions out of following: 2x5=10

a. Which zone of soil is called ‘True soil’ and why? |
(PN (P AP© UGB e 3 (F?
b. Give examples of two submerged floating hydrophytes.
7o submerged floating hydrophyte g GHIRIY WIS |
C. What do you mean by ‘Edge effect’?
Edge effect I610® [F (J1A?
d. What s inverted pyramid? Cite an example.
Inverted pyramid T3 JCe1? SHIRAY WIS |
e. What does ICN stand for in Botany?
ICN I AT I (74|
f.  What do you mean by Nomen-nudum?
Nomen-Nudum JeTC® {3 (J1r?
g. Name one herbarium and one Botanical Garden in India.
SIASICHT 0 Botanical Garden & AB(6 Herbarium K TN (A
h. What do you mean by ‘Key’ in taxonomy?

Taxonomy (® KEY J€1(® & @R

2. Answer any two questions out of the following: 5x2=10

a) Briefly discuss the effect of temperature on plant.
TG BHE SROR SR W 4|

b) What is Detritus food chain? Explain dynamics in ecosystem.
Detritus food chain IR JCe1? Ecosystem A AMRANTNOT II5HT |

c) In which type of plants do you find Viviparous germination? Write the
important morphological adaptations in those plants.
Viviparous germination (Pl 4N OfG TN (WY1 1?7 92 (N S BTHd
Morphological adaptation &fe @7y

d) What do you mean by type specimen? Enumerate different ‘Nomenclatural
type’.
Type specimen BT J(e1? fRAAGN Nomenclatural Type ST ST RGN FH|



3. Answer any two questions out of the following: 10x2 =20

a)

b)

d)

Explain different seral stages of Xerosere with suitable examples. What do

you mean by secondary succession?

ToYS GHIRAT IR “(GATIR 7 1 &fe 540 T (N AN Ieree F
(17

Mention the phytogeographic regions of India according to D. Chatterjee.
Write the names of two dominant plants from each region. State the “Age
and Area” hypothesis of endemism.

D. Chatterjee < W W+II(F GO BIGH (WI5ield W2pel 3feTg Wy (#7141
2ASG W26 7fG FA (IFITIES BGTA AN (4| Endemism AT Age & Area
O HqICATENT P |

What do you mean by artificial, natural and phylogenetic system of

classification? Write the merits and demerits of Bentham and Hooker’s

system of classification.
W: ATPrOF 8 Tl OO N® (NI Jet© {F (QRI? Bentham-Hooker 43
NI afod YR @ W & @41

What does OUT stand for? What are the rules of binomial nomenclature?

Comment on the Principle of priority and its limitations.
OUT - I NI {57 oM ISR NI @ (6741 AHHFR A1 100 S @
ST AR TR T8 F4
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